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Fitted Curve: tau=1874.85+1.92,

A=343.05%+0.21, B=45.22+0.05
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Fitted Curve: tau=2032.82+2.23,
A=292.16+0.19, B=45.49+0.04
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Heater Element 2
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Fitted Curve: tau=1890.08+1.95,

A=268.74+0.17, B=33.12+0.04
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Fitted Curve: tau=2108.19+2.32,

A=290.23%+0.19, B=26.66+0.05

7500 10000 12500 15000 17500
Time(s)

2500 5000

Resistance (Ohm)

Resistance (Ohm)

Heater Element 3

350 A

300 A

250 A

200 A

150 A

100 A

50 A

== Data
Fitted Curve: tau=2042.57+2.20,

A=291.49+0.18, B=35.68+0.04
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Fitted Curve: tau=2108.16+2.37,

A=277.08+0.18, B=26.56+0.04
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Fitted Curve: tau=2002.34+2.15,

A=192.33+0.12, B=31.00+0.03
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Fitted Curve: tau=1964.12+2.21,

A=254.23+0.17, B=20.72+0.04
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